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4.0 4.0 4.0
5.0 5.0 5.0
6 6.5 7 7.5 8 8.5 9 6 6.5 7 7.5 8 8.5 9 6 6.5 7 7.5 8 8.5 9
[pH] [pH] [pH]
0.0 0.0 & 0.0
1.0 < 1.0 f 1.0
2.0 2.0 2.0
= o) & g
=3.0 =30 —3.0
4.0 4.0 4.0
5.0 5. 5.0
6 6.5 7 7.5 8 8.5 9 6 6.5 7 7.5 8 8.5 9 6 6.5 7 7.5 8 8.5 9
[pH] [pH] [pH]
-O— H30.10.17 -©O—  H30.10.17 -©— H30.10.17
1’ H30
H29

1-3(2)

0.0 0.
N\ ~~
1.0 1. \
2.0 2.
- -
= =
3.0 3.
4.0 4.
5.0 5.
1516171819202122232425 0 5 10 15 20 25 30 35 40
[1
0.0 0. N
1.0 1. \
2.0 ! 2.
= / = \,
~3.0 .
4.0 4.
0 5.
1516171819202122232425 0 5 10 15 20 25 30 35 40
[1
(DO)
0.0 0. /k ‘
1.0 —fz———— 1. «
2.0 { 2.
= (P = Y\\
~3.0 =3. :
4.0 4.
00 +—H— 5.0
0 2 4 6 8 101214 0 2 4 6 8 101214
[mg/1] [NTU]
O 10/17 352, 410
0.
»
1.
0.0 )Tf/ \
10 \ _2
=
| -
20 3.
_
s 4
3.0 .
5.
4.0 02 4 6 8 1012 14
Do [NTU]
0 2 46 8 101214
[mg/1]
O 10/17 457, 442 0.
_— 1 2 — 1.
1'— 4 2
Oixee DO(__ 1231.45) =
=3.
4.
5.0
6 6.5 7 7.5 8 8.5 9
[pH]
) A\
1.
i
2. |
= {
3.
4.
5.

6 6.5 7 7.5 8 8.5 9
[pH]
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H29-H30 1 3
e DO 7.2 9.0mg/l
(] 4
(m)
40.0 L 1]
®mH30.2.14 mWH31.2.15
30.0
20.0
10.0
0.0 L r . . )
7 4 3 2 1
(H29,H30 )

0.0 % 0.0 n} 0.0 0.0
1.0 Zf Eﬁ?@ 1.0 ¥i 1.0 N 1.0
2.0 8 2.0 2.0 2.0
= = a a = § =
3.0 = ~3.0 i % =3.0 3.0 =
4.0 4.0 4.0 4.0
5.0 . 5.0 5.0 5.0
5678 9101112131415 0 5 10 15 20 25 30 35 40 56 7 8 9101112131415 0 5 1015 20 25 30 35 40 56 7 8 9101112131415 0 5 1015 20 25 30 35 40
[1 [1] [1
0.0 0.0 0.0 0.0
N RS \\&\“ Ny
1.0 1.0 1.0 X 1.0
P b
2.0 2.0 2.0 2.0
= E = E R = b E
3.0 3.0 3.0 Y 3.0
4.0 4.0 4.0 +—+——F+—+———"+ 4.0
5.0 5.0 5.0 5.0 5.0 0
5678 9101112131415 0 5 10 15 20 25 30 35 40 56 7 8 9101112131415 0 5 10 15 20 25 30 35 40 56 7 8 9101112131415 0 5 10 15 20 25 30 35 40
[1 [1 [1
DO DO DO
0.0 0.0 £ 0.0 0.0
[ T ¢
1.0 } 1.0 1.0 . 1.0 P
2.0 Rﬁ 2.0 2.0 e 2.0 b
g = E E - 3 ¢ 3
3.0 3.0 3.0 3.0
4.0 4.0 4.0 4.0
DO R Do 5.0 DO
0.0 2.0 4.0 6.0 8.0 10.0 02 46 8101214 0 2 4 6 8 10 0 2 4 6 8 1012 14 0 2 4 6 8 10 02 4 6 8 1012 14
[mg/1] [NTU] [mg/1] [NTU] [mg/1] [NTU]
0.0 0.0 0.0 0.0
4 N P
1.0 1.0 1.0 1.0 ¥
4 ! :
2.0 2.0 2.0 » 2.0 1 i
g E g E g E
=0 3.0 3.0 3.0
%
4.0 4.0 4.0 4.0
Do .0 DO 5.0 00 0
0.0 2.0 4.0 6.0 8.0 10.0 02 46 8101214 0 2 4 6 8 10 0 2 4 6 8 1012 14 0 2 4 6 8 10 02 4 6 8 1012 14
[mg/1] [NTU] [mg/1] [NTU] [mg/1] [NTU]
0.0 0.0 0.0
%
1.0 1.0 1.0
i ol
2.0 2.0 2.0
E = o =
=3.0 3.0 T30
)
4.0 4.0 4.0
5.0 5.0 5.0
6.06.57.07.58.08.59.0 6 6.5 7 7.5 8 8.5 9 6 6.5 7 7.5 8 8.5 9
[pH] [pH] [pH]
0.0 Zi X 0.0 % B 0.0
1.0 % % 1.0 1.0
2.0 2.0 2.0
= = E
=3.0 3.0 3.0
4.0 4.0 4.0
5.0 5. 5.
6.06.57.07.58.08.59.0 6 6.5 7 7.5 8 8.5 9 6 6.5 7 7.5 8 8.5 9
[pH] [pH] [pH]
-O- H30.214 -©- H31.2.15 -O— H30.214 -©- H31.2.15 H30.2.14 -O— H31.2.15
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]
H29-H31/R0O1 1 4 5
L}
[ 1'TH29-H30 [ 4]H29-H30 5]H29-H30
0.0 0.0 0. 0.0 0.
1.0 % 1.0 1. 1.0 1.
2.0 Rk 2.0 2. 2.0 11 204+t ++6—
= = = % = = =
=3.0 = 3.0 K 3. —3.0 3.
4.0 4.0 4. 4.0 4.
5.0 5.0 5. 5.0 5.
56 78 9101112131415 0 5 10 15 20 25 30 35 40 56 78 9101112131415 0 5 1015 20 25 30 35 40 56 78 9101112131415 0 5 10 15 20 25 30 35 40
[1 [1 [1
0.0 0.0 0. 0.0 0.
N B 0 ) 4
1.0 X 1.0 1. 1.0 1.
® ® i
2.0 2.0 2. 2.0 2.
= E = = R G =
3.0 3.0 g 3. 3.0 3.
4.0 4.0 4. 4.0 4.
5.0 0 5.0 5.0 5.0 5.0
56 78 9101112131415 0 5 1015 20 25 30 35 40 56 78 9101112131415 0 5 10 15 20 25 30 35 40 5678 9101112131415 0 5 10 15 20 25 30 35 40
[1 [1 [ 1
DO DO DO
0.0 ﬁ; 0.0 0. 0.0 e 0.
1.0 1.0 1. 1.0 1.
2.0 & Al 2.0 2. 2.0 2.
) ) ) g \j g 9 =)
3.0 3.0 3. 7 3.0 ] 3. 7
4.0 4.0 4. 4.0 4.
Do Do 5. _bo 5.
0 2 4 6 8 10 0 2 4 6 81012 14 0 2 4 6 8 10 0 2 4 6 8101214 0 2 4 6 8 10 0 2 4 6 81012 14
[mg/1] [NTU] [mg/1] [NTU] [mg/1] [NTU]
0.0 0.0 p 0. 0.0 N 0.
1.0 4 1.0 1. 1Y 1.0 b 1.
d o } }
2.0 2.0 2. 2.0 2.
3 3 3 E X = s ||z
3.0 3.0 3. 3.0 3.
4 To
4.0 4.0 4. 4.0 4.
b 0 Do 5. Do 5.0
0 2 4 6 8 10 0 2 4 6 8 1012 14 0 2 4 6 8 10 02 4 6 8101214 0 2 4 6 8 10 0 2 4 6 81012 14
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0.0 0.0 0.0
1.0 % 1.0 1.0
1)
2.0 2.0 2.0
= E : =
3.0 3.0 3.0
i
4.0 4.0 4.0
5.0 5.0 5.0
6 657 7.5 8 8.5 9 6 657 7.5 8 8.5 9 6 6.57 7.5 8 8.5 9
[pH] [pH] [pH]
0.0 0.0 % 0.0 5
1.0 “g)%) 1.0 1.0
2.0 2.0 2.0
3.0 3.0 3.0
4.0 4.0 4.0
0 0
6 657 7.5 8 8.5 9 6 657 7.5 8 8.5 9 6 6.57 7.5 8 8.5 9
[pH] [pH] [pH]
-O— H30.214 -©- H31.2.15 -O— H30.214 -©- H31.2.15 H30.2.14 -O- H31.2.15
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N
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[1
0.0 I 0.0 AN
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= =
=3.0 ~3.0
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5.0 5.0
56 78 9101112131415 0 5 10 15 20 25 30 35 40
[1
(DO)
0.0 *4 0.0
1.0 1.0
2.0 (‘ 2.0
= = q
N~
=3.0 =30
4.0 4.0
D0 ; 5.0
02 46 8101214 02 46 8101214
[mg/1] [NTU]
0 2/15 8.11, 8.03
0.0 \
0.0 1.0 "
1.0 / '_|2.0 \
| £
=
20 L 3.0 i
_
=
S0 4.0
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4.0 02 46 8101214
D0 o [NTU]
02 46 8101214
[mg/1]
0.0
02/15 830, 810 \
—_— 1 2 — 3 1.0
— 1'— 4 5 2.0
OAsxe e DO 1231'45 =
: ! £ 3.0
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5.0
6 6.5 7 7.5 8 8.5 9
[pH]
0.0 3
1.0
2.0
=
='3.0
4.0
5.0

6 6.5 7 7.5 8 8.5 9
[pH]
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0.0 0.0 0.0 0.0 T
) SN i~
1.0 1.0 ~ 1.0 7 1.0 o
2.0 2.0 2.0 2.0 N
- - _ _
E = = / =
3.0 \ 3.0 =50 =50
4.0 4.0 4.0 4.0
5.0 5.0 5.0 5.0
1516171819202122232425 0 5 10 15 20 25 30 35 40 15.018.021.024.027.030.0 0.06.00.76.20.75.80.85.40.0
[1] [1]
0.0 0.0 TRe==— 0.0 : 0.0 T
1.0 1.0 1.0 > 1.0 =
2.0 \ 2.0 2.0 2.0 N
= i = =
3.0 i 3.0 \ <) =50
4.0 4.0 4.0 4.0
0 5.0 5.0 5.0
1516171819202122232425 0 5 10 15 20 25 30 35 40 15.018.021.024.027.030.0 0.06.00.76.20.26.80.86.40.0
[1] [1]
(DO) (DO)
0.0 0.0 /I 0.0 ‘ﬁ 0.0
1.0 — 1.0 7 1.0 / 1.0
2.0 ' 2.0 2.0 7 2.0
E (/ g < = =
3.0 i 3.0 =30 =50
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b - 5.0 Do 5.0
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[mg/1] [Nt [ng/1] [NTU]
O 5/27 961, 336
0.0 0.0 0.0 -
1.0 1.0 1.0 2
}>< 0.0 Q ] I>
_2.0 _2.0 10 ) 2.0 7
= = - =
3.0 ] 3.0 )0 3.0
=
4.0 4.0 S, 4.0
0o : 5.0 10 5.0
0 2 4 6 8 10 0 2 4 6 81012 14 : 0.02.04.06.08.010.02.04.0
[mg/1] [Nt DO L [NTU]
T > . 0.0 4.0 8.0 12.0
o . [o/1]
OAx e . 0.0 0
xe0 DO 1231.45) 0.0 T O 5/27 961, 336 ‘\k
1.0 — 1 2— 3 Lo {
20 coce oo 10 )
= DO 1,231'45 =
=3.0 . ! E3.0
.0 4.0
5.0 5.0
Y5657 75885 9 6.06.57.07.58.08.59.0
[pH] [pH]
0.0 R 0.0 ‘ )
1.0 1.0 {
2.0 2.0
G g !
3.0 =3.0
4.0 4.0
5.0 5.0
6 6.5 7 7.5 8 8.5 9 6.06.57.07.58.08.59.0
[pH] [pH]
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H30
H30 [ H30.8.6]
0.0 0.0
J N
1.0 1.0
2.0 2.0
= /( E
3.0 1 3.0
4.0 4.0
5.0
2526272829303132333435 0 5 1015 20 25 30 35 40
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Y \&\
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Y
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(DO)
0.0 0.0
B
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7 <
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= (p = ( N
e
3.0 17 3.0
4.0 4.0
DO 5.
02 46 8101214 0 2 46 8101214
[mg/1] [NTU]
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8/6 10:30 8/16 13:00 0.0
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0.0
Y74 L
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e
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=
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4.0 02 4 6 8101214
Do [NTU]

02 46 8101214
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_— 1 2 — 3
1'— 4
Oixee DO( 1231'45)

[m]

o o o o

6 6.5 7 7.5 8 8.5 9
[pH]

6 6.5 7 7.5 8 8.5 9
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0.0 - 0.0
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e e
3.0 3.0
4.0 4.0
5.0 5.0
1516171819202122232425 0 5 10 15 20 25 30 35 40
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0.0
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= a |
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5.0 5.0
1516171819202122232425 0 5 10 15 20 25 30 35 40
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2.0 2.0
= g = .
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4.0 4.0
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2 4.0
5.0
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0 2 46 8 101214
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— 1 2 — 1.0
1'— 4 5 2.0
Qixee DO( 1231'45) =
=3.0
4.0
5.0
6 6.5 7 7.5 8 8.5 9
[pH]
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1.0 K(
2.0
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=3.0
4.0

0
6 6.57 7.5 8 8.5 9

[pH]

0.0 : 0.0
1.0 \1 1.0
2.0 2.0
=] =]
i \\ i
3.0 ‘ 3.0
4.0 4.0
5.0 5.0
5678 9101112131415 0 5 10 15 20 25 30 35 40
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0.0 NW 0.0
1.0 \ 1.0
2.0 ) 2.0
= =
=3.0 i =3.0
4.0 4.0
5.0 5.0
56 78 9101112131415 0 5 10 15 20 25 30 35 40
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(3]0))
0.0 )4 0.0
1.0 1.0
2.0 ) 2.0
G [ G
3.0 3.0
4.0 4.0
DO 5.
0 2 4 6 8 1012 14 0 2 4 6 8 1012 14
[mg/1] [NTU]
0 2/15 8.11, 8.03
0.0 \
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2.0 f 3.0 /
-
=
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5.0
4.0 02 4 6 8 10 12 14
0o ol [NTUl
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— . py—
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Osxee DO{ 1231'45 =
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4.0
5.0
6 6.5 7 7.5 8 8.5 9
[pH]
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1.0
2.0
=
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4.0
5.0

6 6.5 7 7.5 8 8.5 9
[pH]
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